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SUBJECT CODE NO:- 1380
FACULTY OF HUMANITIES
B.A. T.Y.SemV
Examination March/April-2022 (To Be Held In June/July-2022)
Labour Economics

[Time: 1:53 Hours]

N.B

Q.1

Please check whether you have got the right question paper.
All questions are compulsory.
Use black or blue pen only.
Use pencil for diagrams.
Use of any signs attracting attentions is provided.
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. Fill in the blanks (attempt all)

Labour review committee established by Govt. of India in the year
The famous Book “ The theory of wages” has written by
Employment exchange act passed by government of India in the year
Minimum wages act was passed in the year

. Act has passed in India in the year 1881.
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B. Answer in one sentence (all)

In which year the Industrial dispute act was implemented?

In which city the head office of central labour education board?
Who has propounded living wage theory?

Which are the importance factor of production?

What is the primary function of a labour union?
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Q.2 A. Explain concepts /terms/ units/ events (any two) 10

(word limitation minimum 60 for each answer)
1. Unemployment.
2. Minimum wage.
3. Labour court
4. Industrial Disputes
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B. Attempt in short (any two)
1. Write the types of Labour
2. State the unemployment causes.

3. State the employment policy in eleventh five year plan.
4. Explain the government labour policies after 1991.
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Q.3 Answer in detail (any one) 20

(word limitation minimum 200 for each answer)

1. Explain the marginal productivity theory of wage.

2. What is industrial disputes? State the varies reasons of Industrial disputes.
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